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void eps_calculation(double eps[] , int nl , int ns , double e_bace
double d1 , double d2){
int i;
eps [0]=e_bace;
for(i=0;i<=nl-1;i++){
if (((i+1)%ns)==0){
eps[i+1]=eps[i]+d2;
printf ("%d %1f\n",i+1,eps[i]);

elseq{
eps[i+1]=eps[i]+d1l;
printf("%d %1lf\n",i+1,eps[i]);
}
}
}
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0 @G.2)0dpogooooooon
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double delta_calculation(double eps[] , int nl , doublex delta ,
double g_int , double* lamda)<{
int i,k=0;
double wa,so0l=0,sa_2=1.0,s0l1_2,delta_2;
while(1.0e-10<=fabs(sa_2) && k<1000){
k++;
wa=0;
for (i=0;i<=nl-1;i++){
wa+=1.0/(sqrt (pow((eps[i]-1lamda),2)+pow(delta,2)));
}
sol=(-g_int/2.0)*wa*xdelta ;
sol_2=fabs(sol);
delta_2=fabs(delta);
sa_2=delta_2-s0l_2;
delta=sol;
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}

if (k>=1000){

delta=0.0;

puts("delta couldn’t be calculatied!!\n");
+

return delta;
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double n_calculation(double eps[] ,int nl , double delta , double g_int
, double lamda){
int i;
double v_1,wa,n_1,du;
wa=0;
for (i=0;i<=nl-1;i++){
du=1.0-(((eps[i])-lamda)/(sqrt(pow((eps[i]-lamda),2)+pow(delta,2))));
v_1=(1.0/2.0)*du;
wat+=v_1;
}
n_1=2x*wa;
return n_1;
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I
double lamda_calculation(double eps[] , int nl , double n_O , doublex delta .
int k=0;
double m_n=100.0,1_n,h_n;
double 1_delta,m_delta,h_delta;
double 1_lamda=-100.0,m_lamda,h_lamda=100.0;
while(fabs(m_n-n_0)>1.0e-8 && k<1000){
k++;
m_lamda=(1_lamda+h_lamda)/2.0;
m_delta=delta_calculation(eps , nl , &delta , g_int , &m_lamda);
m_n=n_calculation(eps , nl , m_delta , g_int , m_lamda);
if (m_n<n_0){
h_lamda=m_lamda;
}

elseq{
1_lamda=m_lamda;
}

by

return m_lamda;

}

T
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5.3 Jacobill
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XL XTXTAX Xy X, = A (5.12)
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Tpp = cosl, x,, =sinb

Tp, = —sinf, x,, = cosd (5.13)
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54 HFBOOOOOO

DODOOHFBODOODO JacobiDODOOOODODOODOODODOOOOODOOOO5.2
OoDo000 #H,C,ADD000

f= ch AAA (5.14)
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A=At A=A (6.1)
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R=H— XN, — AN, (6.4)
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R = (R) = E.;+ Fpuir , (6.5)
e = Bt = Ap(Np) — A (W) (6.6)
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(10O Program List

HFBOOOO JacobiO OO OOODODOODOOOODOOOOO

/*

isopair.c (ver. 2002/02/11b)
A Hartree-Fock-Bogoliubov program to describe the pairing correlation
taking into
full accout the isospin degree of freedom, i.e. T=0 as well as T=1
pairing,
or, p—n as well as p-p and n-n pairing,
written by Norifumi Suzuki and Naoki Tajima, Fukui University

godo

- JO00d00000000000 MeV OUOOQOOOOOU

- Q00000 ATO OO0 AO0OO0OOOOOO

- JO0000o0o0oooooob0 togooggg, soooo

LOOO0O0O00oo0oooo0ooooooooooon

x/
#include "matutil.c" /x OD0O0O0O0O0O0O (OO0OOOOOOOOOOOO0O
O0)x/
#include "lib_jacobi2.c" /x O UOODOODOODO (OOOODOOOOO
Od)x/

#include <stdio.h>

#include <math.h>

#include <string.h>

#include <stdlib.h>

#include <limits.h>

#include <sys/time.h> /x* Linux[]
#include <time.h> /* LinuxO OO

OOooooooog =/

ooooog
Ooooo0o oooogo =/
#define PL O /* print level */
#define DBG O /* debug level */

#define I_max 400 /* DU 0O0OD 1000000000 =%/

const int N_min=0; /x 00 0001000000000000

O =/

const int N_max=5; /A 00000100000000000 0

O =/

const int Max_count=1000; /¥ P1 00000000 0000000
OooOooooag =/

const double hbar_omega=7.0; /x DO UO0OU00OO0O0O0OOOOOO h-bar w */

const double kappa_mu=0.025; /* Nilsson potential parameter K[y */

const double beta=0.22; /000000000 B _2 */

const double lambda_s=40.0; /+ 000000000000 O0OOOOOO0O0O

o8



og x/

const double iomg_beg=0.0; /* isospace cranking angular velocity */
const double iomg_end=10.0; /* _beg UUOU (begin), _end OO, */
const double iomg_inc=0.1; /* _inc O 0O (increment) */

const double V010=-1.00; /* T=0,5=1,1L=0 channel OO OOOO

(ODOoog -1.00) x/
T=1,S=0,L=0 channel O 0OOOO
(OO0O0 -0.66) */

const double V100=-0.66; /

*

/¥ Linnx 000000000 O000ODO0O : begin */

#define NTMPU 20 /* number of time-measured program units */
struct tms tbuff;

double cputime [NTMPU];

int calls[NTMPU];

enum{funl,fun2,fun3,fun7,fund, funb,fun6,fund};

/¥ LinuxO00OOOO0OO0OOOO0OOO0OO0O00O : end *x/

/* splabel DO OUODOODOODOOOOOOOOODOODODOOO =/

typedef struct{
int n; /x OO0OD0OO0OO0O0O0O0O =/
int 1; /*» 000000000 =*/
intm; / OO00O0O0 (ODOOOO0OO zO0O) %/
int s; /¥ OO0O0 z OO0O s=0 -> -1/2, s=1 > 1/2 %/
int t; /* O00O0O0O0O0O z OO t=0 -> neutron, t=1 -> proton */

double e; /* energy */
} splabel; /* single particle state label */

enum {NEUTRON=0, PROTON=1, DOWN=0, UP=1}; /x* splabel[][]D godgdg
O =/

/+ 000000000 0000000000000000000000000 */
/* Proj_...2[s1][s2] [s3] [s4] = 2 <s1,s2|Projector|s3,s4> */

/* s=-1/2 : array index=0, s=1/2 : array index=1 */
int Proj_singlet2[2] [2] [2] [2] = {0,0,0,0, O,1,-1,0, O,-1
int Proj_triplet2[2][2] [2] [2] = {2,0,0,0, O,1, 1,0, O

/ 0000000000 : begin */

int P1(int imax, splabel label[],matrix dnsm, matrix prts, matrix mfhc,
matrix prpt, matrix eigu, matrix eigv ,matrix gpha, matrix gphal,

matrix gpve, vector gpeg , double *num_n_ptr, double *num_p_ptr);

void P2(int imax, matrix mfhc, matrix prpt, matrix qpha);

void P3(int imax, matrix qpha, matrix qpve, vector gpeg, matrix eigu,
matrix eigv);

double P4(int imax, splabel label[], matrix eigu, matrix eigv, matrix dnsm,
matrix prts, double *num_n_ptr, double *num_p_ptr);

int GeneSpBas(int Nmin, int Nmax, int Imax, splabel label[]);

void MakeMfhc(double lambda_n, double lambda_p, int imax, splabel labell],
matrix mfhc);

void InitPrts(double lambda_n, double lambda_p, int imax, splabel labell[],
matrix prts);

void CalcPairPot(int imax, splabel label[], matrix prts, matrix prpt,

int channel_t);

void CalcEner(int imax, splabel label[], matrix dnsm, matrix prts,

matrix prpt, double *emf_ptr, double *epair_ptr);

/* 0000000000 : end */
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/R skskkok ok ok ok ok ok ok ok sk sk skok sk sk ok ok s ok ok sk sk sk sk sk sk sk sk s ko ok sk sk sk sk sk sk ok sk ko ok sk sk sk sk sk sk ok sk s ok ok sk sk sk sk sk sk ok ok ok ok ok 3
int main(int argc , char **argv){
int ii,count,loop_iomg=0;
int imax; /* the number of single-particle states */
int channel_t; /* interaction is restricted to only T=0 (if channel_t=0),
to only T=1 (if =1), to both T=0 and 1 (if =2) */
double num_n,num_p; /* expectation values of the number of neutrons and
protons, <N_n> and <N_p> */
double emf,epair,etot; /* Mean-field energy,Pairing energy,total energy */
double emf2[3],epair2[3]; /* Mean-field energy and Pairing energy */
double iomg; /¥ A n=As+w/2, ANp=As-w/2
W = isospace cranking angular velocity */
double lambda_n,lambda_p; /* Fermi levels of neutrons and protons */
matrix dnsm,prts,mfhc,prpt,eigu,eigv,qpha,qphal,qpve; /* OO OO
ooog =/
vector qgpeg; /* UDOOODOOODO =*/
splabel label[I_max]; /x DOUO0O0O0O0O0O0O0O0OOOOOOOOOOO =/
double tml,tm2; /* variables for CPU time measurement */

/*

Ob00O0O00000 qgp: quasi-particle states,

sp: single-particle basis states

eigulpositive energy qp index] [sp index]

Bogoliubov transformation matrix U
eigv[positive energy qp index] [sp index]

Bogoliubov transformation matrix V
dnsm[sp index] [sp index] : density matrix OO OO, p=V'TV
prts[sp index] [sp index] : pairing tensor, t = VT U
mfhc[sp index] [sp index]

mean-field hamiltonian with temrs for number constraint, {curly H} - c
prptlsp index] [sp index] :

pairing potential, A _{ij}=(1/2) £ _{k1}<ijlvIkl>t_{k1}
gpha[doubled sp index] [doubled sp index]

quasi-particle hamiltonian,or HFB super matrix
gphal[doubled sp index] [doubled sp index]:

memory space allocated to preserve previous-step values of gpha
gpve [positive and negative energy qp index] [doubled sp index]

quasi-particle vector (eigen vectors of the HFB super matrix)

ggboobooooboo
gpeglpositive and negative energy qp index]

quasi-particle energies, i.e., eigenvalues of qgpha

*/
times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

/* initialization for CPU time measurement : begin */
for(ii=0;ii<NTMPU;ii++){
cputime[ii]=0.0;
calls[ii]=0;
}

/* initialization for CPU time measurement : end */

imax = GeneSpBas(N_min, N_max, I_max, label);
/¥ 10000000, imax:00000 =/

if (PL>-1){
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fputs("Program = isopair.c (ver.2002/02/11a)\n",stdout);

printf ("Osc.Quant.Num. %d<=N<=Jd #single-particle states=)d\n",
N_min,N_max,imax);

printf("Mean field: hbar omega=76.3f kappa_mu=%6.4f beta=/6.4f
lambda_s=%6.3f\n"
,hbar_omega,kappa_mu,beta,lambda_s) ;

printf ("Pairing interaction strengths V(TSL):

V010=%f V100=%f\n",V010,V100);

printf ("Isospace cranking: do iso.omega=%f,%f,%f\n"
,iomg_beg,iomg_end,iomg_inc); fflush(stdout); }

if(Pl>-1){ /x 000000000000 DODODO0O0O000O0O0O00OO0O0O =/
printf("[ single-paticle states ]\n");
printf ("%4s %2s %2s %3s %ls %1ls %8s\n",
"No." , np" , nn , "m" , ngn , ngn , nenergyn) :
for(ii=0;ii<imax;ii++) printf("%4d %2d %2d %3d %1d %1d %8.4f\n",ii
,label[ii] .n,label[ii] .1,label[ii] .m,label[ii].s,label[ii].t,label[ii].e)
fflush(stdout) ;
+

/¥ 00 malloc O00O0O0O0O0COO0OOOODCOOO0O *x/
dnsm=new_matrix(imax, imax);
prts=new_matrix(imax, imax);
mfhc=new_matrix(imax, imax);
prpt=new_matrix(imax, imax);
eigu=new_matrix(imax, imax);
eigv=new_matrix(imax, imax);
gpha=new_matrix(2*imax, 2*imax);
gphal=new_matrix(2*imax, 2+*imax);
gpve=new_matrix(2*imax, 2*imax);
gpeg=new_vector (2*ximax) ;

/* The outer-most loop begins here as for the iso-space
cranking frequency */
for (iomg=iomg_beg;
iomg_inc>0 && iomg<iomg_end+1.0e-9 ||
iomg_inc<0 && iomg>iomg_end-1.0e-9;
iomg+=iomg_inc){
loop_iomg++;

lambda_n=lambda_s+iomg/2.0; /* DO O0ODOOOOOO =%/
lambda_p=lambda_s-iomg/2.0; /* UOOODOOOOO =/

if (PL>0) printf("===== iso.omega=)f Fermi levels n=Jf p=)f =====\n"
,iomg,lambda_n,lambda_p) ;

fflush(stdout); fflush(stderr);

/* mthe 000000 mfhe 000 iomg 00000000 OCOOO0O =/
MakeMfhc(lambda_n, lambda_p, imax, label, mfhc);

/x prts D0 O0O0O0O0O00O0OOprts P ODOODOO0ODOOODOOOO
oogod
O0000000D0O0Oprpt O prts DO0OODOOODDOODOOO
0 o=/
InitPrts(lambda_n, lambda_p, imax, label, prts);
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/ HFBOOOOOOOOOOOOOOOcount OO0 OO0OOOOODOOO
oOoo x/
count=P1(imax, label, dnsm, prts, mfhc, prpt, eigu, eigv, gpha, gphal,
gpve ,qpeg, &num_n, &num_p);

if(PL>D{ /* D0 0O0DLO0OO0OOO0O0O0OODOOO0ODOOODOOODOO
O =/
for(ii=0;ii<imax;ii++){
printf ("%f %f %f %d :occ prb\n",dnsm[ii] [ii],labell[ii].e,
mfhc[ii] [ii],label[ii].t);
}

b

/x 0000000 Oepaird T=0 U000 T=1 DOODOODOODOOO
O =/

for(channel_t=2;channel_t>=0;channel_t--){ /*T=0,T=100000
*/

/ O00000000000000 prts UODOOODODO
Ob0o0obOobobOoboboOobooOonDg prpt ODODOODO %/
CalcPairPot(imax, label, prts, prpt, channel_t);

/ O0000000000000 prpt DOODO
O000D00D00 epair OODOOO */

CalcEner(imax, label, dnsm, prts, prpt, &emf2[channel_t],

&epair2[channel_t]);

}
emf=emf2[2]; epair=epair2[2]; etot=emf+epair;

/ 000000000000 0000000000000 =/

if (fabs(emf2[2]-emf2[1])>1.0e-8| |fabs(emf2[2] -emf2[0])>1.0e-8)
fprintf (stderr,"Error: it must hold emf= %f = %f= %f\n",emf2[0],
emf2[1] ,emf2[2]);

/ 0000000000000 00DOo0O0ooooood
O0O00000DO0OOooDoog =/
if (fabs(epair2[2]-epair2[0]-epair2[1]) > 1.0e-8)
fprintf (stderr,"Error: it must hold epair %f = %f + %f = %f\n"
,epair2[2] ,epair2[0],epair2[1],epair2[0]+epair2[1]);

/ 0000 =/

if(PL > -1) {
printf ("%t %e %e %e %f %f Yd iomg,emf,epair(T=0,1),N,Z,iter\n"
,iomg , emf2[2], epair2[0], epair2[1], num_n, num_p ,count );

} /% end of the outer-most loop for the iso-space cranking frequency
iomg */

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[funl]+=1; cputime[funl]+=tm2-tml;

/* 0000000 =/
printf("total %12.2f sec / %d\n",cputime[funl],calls[funl]);
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printf ("GeneSpBas: %e %d %e\n",cputime[fun2],calls[fun2],
cputime [fun2]/calls[fun2]);
printf ("P3: Y%e %d %e\n",cputime[fun3],calls[fun3],
cputime [fun3]/calls[fun3]);
printf("P1: %e %d %e\n",cputime[fun7],calls[fun7],
cputime [fun7]/calls[fun7]);
printf ("P2: Y%e %d %e\n",cputime[fun5],calls[fun5],
cputime [fun5]/calls[fun5]);
printf ("P3: Y%e %d %e\n",cputime[fun6],calls[fun6],
cputime [fun6]/calls[fun6]);
printf ("P4: %e %d %e\n",cputime[fun9],calls[fun9],
cputime [fun9]/calls[fun9]);
printf("CalcPairPot: %e %d %e\n",cputime[fund],calls[fun4d],
cputime [fund]/calls[fund]);

}

/R skskkokokokok ok s ok ok ok sk sk skok sk ok ok ok s ok ok ok sk sksksk sk sk sk sk ok ok sk sksk sk sk sk sk sk ok ok ok ok sk sk ok ok /

/* Solve the HFB equation and obtain a self-consistent solution */

int P1(int imax, splabel label[] ,matrix dnsm, matrix prts, matrix mfhc,
matrix prpt , matrix eigu, matrix eigv ,matrix gpha, matrix gphal,
matrix gpve, vector gpeg ,double *num_n_ptr, double *num_p_ptr) {

int ii,jj,nn,count=0;
double err, errmax, emf, epair, num_n, num_p, gpeg2[2*I_max];
double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

while(count<Max_count){
CalcPairPot(imax, label, prts, prpt, 2);
/ 000000000000 prpt0 OO =/

P2(imax, mfhc, prpt, gpha);
/x 0000000000000 gpha OOO =/

/* damping of the convergence to suppress oscillations */
if (count>0){
for(ii=0;ii<2*imax;ii++){
for(jj=0;jj<2*imax;jj++){
qphalii] [jj1=0.80*qphal[ii] [jj1+0.20*qphaliil [jj];
b
b
+

for(ii=0;ii<2*imax;ii++){
for(jj=0;jj<2*imax; jj++){
gphall[ii] [jjl=qphaliil [jj1;

}

/ O0000000000 Bogulivbov O ODOODOOO =/
P3(imax, gpha, qpve, gpeg, eigu, eigv);

/* calculation of density matrix, pairing tensor,

expectation values of the numbers of neutrons and protons */
P4(imax, label, eigu, eigv, dnsm, prts, &num_n, &num_p);
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if (PL>0){
CalcEner(imax, label, dnsm, prts, prpt, &emf, &epair);
printf ("%5d %e %e %f %f\n",count+l,emf,epair, num_n, num_p);

}

if (count>0) {
errmax=0.0;
for(ii=0;ii<2*imax;ii++){
err=fabs(qpeg2[iil-qpegliil);
if (err > errmax) errmax=err;
}
if (PL>0) printf("iter=Yd max change of eigenvalues=je\n",
count+1,errmax) ;
if (errmax < 1.0e-4) break;

}

for(ii=0;ii<2*imax;ii++) qpeg2liil=qpeglii];
/ 0000000000 =/
count++;

+

*num_n_ptr=num_n; *num_p_ptr=num_p;

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fun7]+=1; cputime[fun7]+=tm2-tml;

return ++count;

3

/KoK sk ok ok sk ook ok sk ok ok sk ok ok sk ok ok ok ok ok sk sk ok ok ok ok sk 3 ok ok sk ok ok sk ok ok sk ok ok ok ok ok sk ok ok ok ok /
/x O000000000000 gpha ODOO =/
void P2(int imax, matrix mfhc, matrix prpt, matrix gpha){
int 11,1i2,3j,jj2;

double err,errmax,dgmin,dgmax;

double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

for(ii=0,ii2=imax;ii<imax;ii++,1i2++){
for(jj=0, jj2=imax;jj<imax;jj++,jj2++){
gphalii] [jj] = mfhc[iil[jj];
gphal[ii2] [jj2]=—mfhc[ii] [jj];
gphaliil [jj2] = prpt[iil[jjl;
, gphalii2] [jj] =-prptl[iil [jj];

by

if (DBG>9) {
/* check of the hermiticity of the created matrix */
errmax=0;
for(ii=0;ii<imax;ii++){
for(jj=0;jj<imax;jj++){
err=fabs(qgphaliil [jjl-qphaljjl[ii]);
if (err>errmax) errmax=err;
}
}

64



if (PL>5| |errmax > 1.0e-12)
fprintf (stderr,"error of hermiticity of q.p. hamiltonian
= %e\n",errmax) ;

} /* end of if DBG>9 */

if (PL>8) {
/* show the range of the diagonal elements of the created matrix*/
dgmin=dgmax=qpha [0] [0] ;
for(ii=1;ii<imax;ii++){
if (gphalii] [ii] > dgmax) dgmax=qphalii] [ii];
if (gphalii] [ii] < dgmin) dgmin=qphalii] [ii];
}
printf ("P2: upper-block diagonal elements are in [%e %el\n",
dgmin,dgmax) ;
dgmin=dgmax=gpha[imax] [imax] ;
for(ii=imax+1;ii<2*imax;ii++){
if (gphalii] [ii] > dgmax) dgmax=qphal[ii] [ii];
if(gphal[ii] [ii] < dgmin) dgmin=qgphalii] [ii];

printf ("P2: lower-block diagonal elements are in [%e %el\n",
dgmin,dgmax) ;
} /* end of if PL>8 */

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[funb]+=1; cputime[fun5]+=tm2-tml;
}

/R skskkokokokok ok sk ok ok ok sk skskskok ok ok ok s ok ok ok sksksksk sk sk sk sk ok kok ok sk sksk sk sk sk sk sk ok ok ok sk ok ok ok /
/ 0000000 000DbooOo =/
void P3(int imax, matrix gqpha, matrix qpve, vector gpeg, matrix eigu,
matrix eigv){
int 1i,11i2,3jj,jj2,kk;
double err,errmax,sl,s2,s3,s4;
double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;
jacobi(2*imax, gpha, qpve); /x DO O OOOODOOO =/

for(ii=0;ii<2*imax;ii++){ /x OO0 O0OOOOOOOO0O =/
qpegliil=qgphalii] [ii];
if (PL>5) printf("qp energyl%4d]= %10.5f\n",ii,qpegliil);
}

/ 00000000000000D0000 BogollivbovOD OO U,V
oogooog =/
for(ii=0;ii<imax;ii++){ /* ii: quasi-particle index */
for(jj=0,jj2=imax; jj<imax;jj++,jj2++){
/* jj,jj2-imax:single-particle index */
eigulii] [jjl=qpveliil [jj];
, eigv[iil [jjl=qpveliil [jj2];
}

/« 00000000 : begin */
if (DBG>-1){
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errmax=0.0;
for(ii=0,ii2=2*imax-1;ii<imax;ii++,ii2--){
if (qpegl[ii] <-1.0e-6) fprintf(stderr,"P3:error:upper block
negative eigen_value %d %f\n",ii,qpegliil);
if (qpegl[ii2]> 1.0e-6) fprintf(stderr,"P3:error:lower block
positive eigen_value %d %f\n",ii2,qpegl[ii2]);
err=fabs(qpegliil+qpegl[ii2]);
if (err>0.1){
fprintf (stderr,"Eigenvalues are NOT pairwise %d %f %d %f\n",
ii,qpeglii],ii2,qpeglii2]);

if (err>errmax) errmax=err;
}
if (PL>1| |errmax>1.0e-2){
printf ("Max error of eigenvalue pairwiseness = %e\n",errmax);
if (errmax>1.0e-2) fputs("* Large Error *",stdout);
fputs("\n",stdout) ;
}
by
/* 00000000 : end */

/* check of the orthonom U and V : begin */

ality of
/* UU T+ VVT=I,UTU+VTV=TI,
UVT+VUT=0,UTV+VTU-=0 %/
if (DBG>1){
errmax=0;

for(ii=0;ii<imax;ii++){
for(jj=0;jj<imax;jj++){
if(ii==jj)sl=-1;else s1=0;
s2=81,;s83=0;s4=0;
for (kk=0;kk<imax;kk++){
sl+=eigulii] [kk]*eiguljj] [kk]+eigv[ii] [kk]*eigv[jj] [kk];
s2+=eigu[kk] [ii]*eigu[kk] [jjl+eigv[kk] [ii]*eigv[kk] [jj];
s3+=eigulii] [kkl*eigv[jj] [kkl+eigv[ii] [kkl*eigul[jj] [kk];
s4+=eigulkk] [iil*eigv[kk] [jjl+eigv[kk] [iil*eigulkk] [jj];
}
err=fabs(sl); if(err>errmax)errmax=err;
err=fabs(s2); if(err>errmax)errmax=err;
err=fabs(s3); if(err>errmax)errmax=err;
err=fabs(s4); if(err>errmax)errmax=err;
}
+
if (PL>0| |errmax>1.0e-6){
printf ("U,V orthonormality error= %e %e %he ‘he max=je",
s1,s82,83,84,errmax) ;
if (errmax>1.0e-6) fputs("* Large Error *",stdout);
fputs("\n",stdout) ;
+

}
/* check of the orthonomality of U and V : end */

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;

calls[fun6]+=1; cputime[fun6]+=tm2-tml;
}

/*****************>I<*************************************/
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/0000 p, OD0ODOOOOO ¢, OOODOOO Np, No ODOO */
double P4(int imax, splabel label[], matrix eigu, matrix eigv,
matrix dnsm, matrix prts, double *num_n_ptr, double *num_p_ptr){

int ii,jj,kk;

double s,num_n,num_p;

double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

/* Calculation of density matrix dnsm = V°T V %/
for(ii=0;ii<imax;ii++){
for(jj=0;jj<=ii;jj++){
s=0;
for (kk=0;kk<imax;kk++) s+=eigv[kk] [ii]*eigv[kk] [jj];
dnsm([ii] [jjl=s;
if(ii != jj) dnsm[jjl[iil=s; /* because dnsm"T = dnsm */
}
}

/* Calculation of pairing tensor t = V°T U %/
for(ii=0;ii<imax;ii++){
prts[ii] [1i]=0;
for (j1=0;3j<=ii;jj+){
for(s=0.0,kk=0;kk<imax;kk++) s+=eigv[kk] [ii]l*eigulkk] [jj];
prts[ii]l [jjl= s;
prts[jjl[iil=-s; /* because t°T = -t */

by

/* Calculation of expectation values of proton and neutron numbers */
for(num_n=0.0, num_p=0.0, ii=0;ii<imax;ii++){

if (label[ii] .t==NEUTRON) num_n+=dnsm[ii] [ii]; else num_p+=dnsm[ii] [ii];
+

*num_n_ptr=num_n; *num_p_ptr=num_p,;

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fun9]+=1; cputime[fun9]+=tm2-tml;
}

/K skskskokook ok ok ok ok ok ok sk sk ok sk ok ok o o ok ok ok ok sk sk sk sk ok ok o ok ok ok ok ok sk sk sk ok ok ok ok ok ok ok ok ok ok ok ok /
/* 00000000000000000O000000000000 */
/* Generate single-particle basis */
int GeneSpBas(int Nmin, int Nmax, int Imax, splabel label[]){
int n,1,m,s,t,i=0,absm,dm;
double e;
double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;
if (Nmin<O| |Nmax<Nmin| | Imax<1)
{fprintf (stderr, "GeneSpBas:error:%d %d %d\n",Nmin,Nmax,Imax);exit(1);}
for (n=Nmin;n<=Nmax;n++){
for(l=n;1>=0;1-=2){
for (absm=0;absm<=1;absm++){
dm=absm*2; if (dm==0) dm=1;
for (m=-absm;m<=absm;m+=dm) {
for(s=0;s<=1;s++){
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for(t=0;t<=1;t++){

if (i>Imax){
fprintf (stderr, "GeneSpBas:error i>I_max=%d\n",Imax) ;
exit(1);

}

e=hbar_omega* ((n+1.5)-kappa_mu* (1*(1+1.0)-((n*(n+3.0))/2.0))
-betax*sqrt(5.0/(4.0%M_PI))
*(1x(1+1) -3*m*m) *(n+1.5) /((2%1-1)*(2%1+3))) ;

label[i] .n=n; label[i].1=1; label[i] .m=m;

label[i] .s=s; label[i].t=t; labell[i] .e=e;

i++;

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fun2]+=1; cputime[fun2]+=tm2-tml;
return i; /* 00O0O0 O0O0O i, OOOOO 0,...,i-1 %/

}

/% ok ok ok ook ok sk sk sk ok sk sk sk sk sk sk ok ok ookt ok ok kokokokokosk sk sk sk sk ok sk sk ok ok ok ok ok ok ok ok ok ok /
/* prepare the mean-field hamiltonian (mfhc) */
void MakeMfhc(double lambda_n, double lambda_p, int imax,
splabel label[], matrix mfhc){

int ii,jj;

double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

for(ii=0;ii<imax;ii++){
for(jj=0;jj<imax;jj++) mfhc[ii] [jj1=0.0;
mfhc[ii] [ii]=1label[ii].e;
if (label[ii] .t==NEUTRON){ mfhc[ii] [ii]-=1lambda_n;}
else{ mfhc[ii] [ii]-=1ambda_p;}
+

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fun3]+=1; cputime[fun3]+=tm2-tml;
}

[ kok sk ok skok ok sk sk ok skok sk ok sk ok sk sk ok skok sk sk sk ok sk sk ok skok s sk sk sk ok sksk sk ok ok sk sk ok skok ok ok /
/* Give initial values to the pairing tensor (prts) */
void InitPrts(double lambda_n, double lambda_p, int imax,
splabel labell[], matrix prts){

int ii,jj;

double tml,tm2;

times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

for(ii=0;ii<imax;ii++){
prts[ii] [i1]1=0;
for(jj=0;jj<ii;jj+H){
prts[ii] [jj]1=0.5+0.1*(rand()/((double) RAND_MAX));
prts[jjl [iil=-prts[iil [jj]; /* prts is an antisymmetric matrix */
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}
+

times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fun3]+=1; cputime[fun3]+=tm2-tmi;
}

/KK skskokook ok ok ok ok ok ok sk ok sk sk ok ok ok o ok ok ok ok sk ok ok sk ok ok ok ok ok ok ok ok sk ok sk ok ok ok ok ok ok ok ok ok ok ok ok /
/* 000 (Hartree-Fock) OOOOOOOOOOOOOOOOO =/
void CalcEner(int imax, splabel label[], matrix dnsm, matrix prts,
matrix prpt, double *emf_ptr, double *epair_ptr){
int ii,jj;
double emf,epair;
for(emf=0.0, epair=0.0, ii=0;ii<imax;ii++){
emf+=(label[ii].e)*dnsm[ii] [ii];
for(jj=0;jj<ii;jj++){
epair+=prpt[ii] [jjl*prts[ii] [jj];

X
*emf_ptr=emf; *epair_ptr=epair;

by

[/ sk sk sksk ok ok ok ok o ok sk ok ok sk sk sk sk ok ok sk o ok sk ok sk sk sk sk ok sk sk o ke ok sk sk sk sk sk sk sk sk sk ok ok ok ok sk sk ok ok /
/* Calculate the pairing potential (prpt) using the pairing tensor
(prts) and the interaction. Depending on the control parameter
value channel_t=0,1,2,respectively, only T=0, only T=1 ,
and both T=0 and T=1 interactions are taken into account.*/
void CalcPairPot(int imax, splabel label[], matrix prts, matrix prpt,
int channel_t){
int ii,jj,kk,11;
int n1,n2,n3,n4, 11,12,13,14, ml1,m2,m3,m4, s1,s2,s3,s4, t1,t2,t3,t4;
double v,v0,vl,vd,sum;
double tml,tm2;

if (fabs(V100)<1.0e-14 && fabs(V010)<1.0e-14){
for(ii=0;ii<imax;ii++) for(jj=0;jj<imax;jj++) prptl[ii] [jj1=0.0;
return;

+
times (& tbuff); tml=(double) tbuff.tms_utime/(double) CLK_TCK;

for(ii=0;ii<imax;ii++){
prpt[ii] [ii]=0; /* pairing potential is an antisymmetric matrix */
nl=label[ii] .n;1l1=label[ii].1l;ml=label[ii] .m;sl=label[ii].s;
til=label[ii] .t;
for(jj=0;jj<ii;jj+H){
n2=label[jj].n; if(nl != n2) continue;
12=1label[jj].1; if(11 != 12) continue;
m2=label[jj].m; if(ml !=-m2) continue;
s2=label[jj].s
t2=label[jj].t
sum=0.0;
for (kk=0;kk<imax;kk++){
n3=label [kk] .n;13=1abel [kk] .1;m3=1label [kk] .m;s3=1label [kk] .s;
t3=label [kk] .t;
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vd=(((11-m1+13-m3)%2) ? -1:1)/(sqrt((2.0%11+1.0)*(2.0%13+1.0)));

for(11=0;11<kk;11++){
n4=label[11l] .n; if(n3 != n4) continue;
14=1abel[11].1; if(13 != 14) continue;
m4=label[11] .m; if(m3 !=-m4) continue;
s4=label[11] .s;
t4=label[11] .t;

v0=V010* (Proj_singlet2[t1] [t2] [t3] [t4]*
Proj_triplet2[s1] [s2] [s3] [s4]
-Proj_singlet2[t1] [t2] [t4] [t3]*
Proj_triplet2[s1] [s2] [s4] [s3]);

v1=V100* (Proj_triplet2[t1] [t2] [t3] [t4]*
Proj_singlet2[s1] [s2] [s3] [s4]
-Proj_triplet2[t1] [t2] [t4] [t3]*
Proj_singlet2[s1] [s2] [s4] [s3]);

if (channel_t==2) v=v0+vil;
else if (channel_t==1) v=v1;
else v=vO0;
sum+=v*vd*prts [kk] [11];
}
}
prpt[ii] [jjl=sum*0.25;
, prpt[jjl [iil=-prpt[iil [jj];

+
times (& tbuff); tm2=(double) tbuff.tms_utime/(double) CLK_TCK;
calls[fund4]+=1; cputime[fund]+=tm2-tml;

}

/*******************************************************/
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